R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, TX-4918

s\_{%\ﬁ‘:.‘;}\\-"“l" % uf M
astpro
Y ) /1318
2 i ¢t un 6
5200 W. CENTURY BLVD. G | 1B §5 £50 iz
XK, ] 57 556 nE
LOS ANGELES, CA 90045 NS i g7 BE
e 5 83 Eo
o S 32 e
S g%e °8
§ 502 g
DIRECT GLAZED FIBERGLASS DOORS 1155 MAX. OVERALL FRAME WIDTH ; Bg
37.5" MAX. 37.5" MAX. % g EL
s ’ N GL ES ™ FRAME WIDTH j " FRAME WIDTH "‘ : @< b
w/ or w/out SIDELITES ‘ | °
95}
[ T = Ly
INSWING / OUTSWING 5 O 1S
w T L
"NON-IMPACT" i %5 o8 | °%
gz ES o) X 0 on | 82
52 25 2R |y 58
TZ £3 SR e
& > = g&" o ©
(@) =O ‘l% 7 _.1('-/')-1
o g oo |35
® s s R
: 2 L
EVALUATED FOR USE IN THE STATE OF TEXAS ‘ ‘ gzz % &
The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 Intemnational Building Code 15— l— — =15 L2f
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment ng
to base material shall be beyond wall dressing or stucco. ©
2. When used in areas requiring wind-borne debiris protection this product is required g
to be protected with an impact resistant covering that complies with Section x b o |4 x x Wl o Q|2
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. i ¥ ° - 2
3. Allowable design pressure requirements must be equal to or less than the design é =
pressure rating shown in the design pressure chart, sheet 1 of this drawing. o &
4. Conditions not covered by this drawing are subject to further engineering analysis. :
=
<<
o
TABLE OF CONTENTS A Lo L) 5
SHEET # | DESCRIPTION R
1 Typical elevations, design pressures & general notes B E
2 Door & Sidelite panel details g o
3 Elevations Gamdde e ; T : o
4 |Horizontal cross sections IMENSION | SITIVE | NEGATIVE | POSITIVE | NEGATIVE | =
5 Horizontal & Vertical Cross Sections X 37.5" x 82.0" N/A +65.0 -70.0 -65.0 DATE: 4/29/19
6 Vertical Cross Sections ,, . scalE:  N.T.S.
7 Frame anchoring OX/XO 75.0" x 82.0 N/A +35.0 -40.0 -35.0 =
8 Hardware details 76.5" x 82.0" 2X +65.0 -70.0 -65.0 s o LES
]90 ;I(l)cr)nf?r(\)g’gifcsnls & components 0) (o) 125" x 8200 N/A 350 -40.0 -35.0 DRAWING NO.:
115.5" x 82.0" 2X +65.0 -70.0 -65.0 TX-4918

SHEeT _ 1 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



R:Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 2.1

0.4" —

3.65"
T[T
REARREREREER
REARATRERARE
]

R mA 0

INTERIOR

—y

CAP (PVC)

24.813"'D.L.O.

STILE (LVL)

35.75" DOOR
WIDTH

WIDTH

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

\2/

S

79.25" DOOR HEIGHT
62.814" D.L.O. HEIGHT

) _®

d
38.25"

SEE HARDWARE
CHART

40 PLASTPRO DOOR PANEL

B

@PLASTPRO SIDELITE PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY)

TTPTTTFT] M }
] EEEEEEREREEE 5
i NEEEEEREREEE =~
LY NN ‘
(m| N - Nl
]/2" N
GLASS BITE
INIERIOR — 3/4" OVERALL GLASS THK.
—_— = '\
| ) \S 1/8" TEMPERED GLASS
| e
e~ | =
-
A
| * \\sAIR SPACE
) / / 1/8" TEMPERED GLASS
ALUMINUM SPACER
EXTERIOR
~ GLAING
TAPE

GLAZING DETAIL

MANUFACTURER
YALE KNOB: YH COLLECTION
DEADBOLT: YH COLLECTION
KNOB: SIGNATURE SERIES
KWIKSET DEADBOLT: SIGNATURE SERIES (980)
KNOB: F-SERIES (F51)
SCHLAGE | peADBOLT:  B-SERIES (B40)

TOP RAIL —[§

(COMP.)

FIBERGLASS SKIN —||.

EXTERIOR

A\

A\)

FOAM CORE — ||

BOTTOM RAIL — |
(COMP.)

L
~yY "M
'\,'\"\; :‘_‘:.-.\-\.111 o 'N_
RO g o< 0
~xTiQn Yo o
o ot = E n wwn
SO ist i 2 ul ©
l"‘“' ° o= n Z -~
a3 Tt 0 . ) =
Zay 5! Gu gB o
3 . s .o =
B~ N7i9% Yy B0 U4
i fuwt s 2.5 2
0%, iz Tw Zoo 53
AR 10 € gimn 202
SRV o 3 S50 nE
PR 594 g
N i 2 Do HE
QX reis 1 &5R® o
g ¥ 55 5 B8R Eg
11\\\.\‘\-\-\'\ o x 2 14
° Zz 8 Su
N c 5% 95
. o :ldS fa)
— o 209 ¢ %E
o Mmoo 06
2 § iy
€ 0o
3 =
[o]
[a]
ac Ll
08 =9
= —=
=0 L.Q_m:
xwum > (&)
o i}
ey Q-
0no = Ty
L =Z
3 |o| 5=
INTERI g (g 8%
OR o |g ©
= e I o
O @
= o
o
¢) &
@ <
a o
D>
Yl
W
o
o
O
O
X
Jl o
ol [z
o
2 @
o
Q| @
0%
2
=
a
a
=]
8
=
= (e}
N ~|<C
. N=
wn
_lo
z

/"2 VERTICAL CROSS SECTION

\2/

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4918

SHEET _2 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.




"ON| SLNVLINSNOJ 9aNIaing ‘Mo 6102 @

2S8LL—4 # NOILYYLSIOFY 40 3LvOIdIL¥3D g SNOISIAZY 3Iva TON

SH33NION3 TVYNOISS3408d 40 Qyv08 SvX3L o)) ! O_
T, SHOLvAT 1 S41| 3000 0di/281 8L0z 0L 31vadn| 0z/9z/s | | | S 2f 3=
. . . AIGW3SSY 90 1avd o= o8

S6SEE 14 OOMIPA 0€Z Xxog O&gg Q N O <
"ONI ‘SINVLINSNOOD 9NIAINg AN NN | 3_

4000 SSv1943414 MR IERS
SZLYOL# 3'd SvxaL ONI 04d1LSY1d gl el el b
‘I'd ‘IPIWIYDS ‘4 uopuki :Ag paipdaigq sjuswnoog :10NAa0yd SISIEIE W &

ELEVATION
OXO

ELEVATION
XO /OX

ELEVATION
X

€'€ 'BMp'gLeY-XL\sbuimel - D\1dedw-uoN paze|9 133414 £50L YA - IALNAL - \LNINYINYId du| ‘oidise|d\siualD\y



Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

&
INTERIOR O z
~ AW &
g /‘//'/////// 11/ E
- Z \..\.-\._ A § K
SEENOTE | m EXTERIOR SEENOTE |
- 2 (2]
(40 /2" HORIZONTAL CROSS SECTION S | .3
1"\ HORIZONTAL CROSS SECTION (4_/ Ovfewing shown [isswing sicr] oo | EG
WOu’rswm shown (Inswing similar) Back-to-Back Jambs €3 |5 oF
Back-to-Back Jambs e ’Ql:*w
<2 (8 €13
o Ll %)) &
T B S
= I
NOTE: = o
1. Spacing for item J: &' from each end and 5 more S é(‘:
equally spaced along sidelite jamb (7 total). o a
Bl%
o0} joo o0} m
Q
@]
(&)
o o g L &
@ [ —id (7 Zr: — O. = I3
RPN PR INTERIOR 7 SRR INIERIOR S|
[ N EL- 9 : [ 1 S @
i ' =
S
o
® = | | | o
SEENOTE 1 (lj é 1" ~le
EXTERIOR
@ EXTERIOR 12 SEENOTE1 SATROR e 4720,/19
@ HORIZONTAL CROSS SECTION (4) 3\ HORIZONTAL CROSS SECTION St N.T.S,
4 / Outswing shown (Inswing similar) - s -
2X Jamb Reinforcement 4 ) Outswing shown (Inswing similar) DWG. BY: MT
U 2X Jamb Reinforcement — LFS
DRAWING NO.:
TX—4918

SHEET _4 oF 10

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 4.1

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 5.1

DRYWALL

®

S S 3

N 4

7
A

(TYP)

@ 7

INTERIOR

/4
//

EXT. SHEATHING j

@4&5 6&5

/"1 "\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

2.
;

EXTERIOR

/" 2\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

/ DRYWALL ‘

EXT. SHEATHING \ ‘

SEE NOTE 1
INTERIOR
‘K
EXTERIOR

m HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

EXT. SHEATHING

== SEE NOTE 2 @

EXTERIOR

INTERIOR

A\

m VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

/ DRYWALL

EXT. SHEATHING EXT- SHEATH'NG\- f

H®

NOTES:

1. Spacing for item J: 6" from each end and 5
more equally spaced along sidelite jamb (7
total).

2. Spacing for item J @ head & sill: 6" from ends
(2 total).

™

DRYWALL

DRYWALL  EXTERIOR A\ INTERIOR

m VERTICAL CROSS SECTION
w Outswing shown (Inswing similar)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

<
O
=0
305 x=
=3 wo
a3 25
a2 |F -
m
55 S| Ewn
[ w =W
N EERE
Lm < NG
e
=
o &
© <
[a o
D>
i [an
Ly
(@)
(®
(@)
O
x
Sl o
al |z
o
2| @
(o]
S &
0
°
2
[a)
A
D
Q
L
=
N|<
NI
Te)
_lo
=

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4918

SHEET _ 5 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 6

\\

INTERIOR

EXTERIOR

ALV

/1" VERTICAL CROSS SECTION

W Inswing Sill

NOTE:
1. Spacing foritem J & L @ head &sill: " from each
end (2 total).

\\

INTERIOR f/ EXTERIOR
SEENOITE 1 %
=

ALY

N

G WwOOD

/"5 \ VERTICAL CROSS SECTION

AT WAL

w Inswing Sill

INTERIOR

[ EXTERIOR

TS

P ) wOOD
D ) CONCRETE

/" 2"\ VERTICAL CROSS SECTION

w Outswing Sill

L2

\\

5

INTERIOR

@)

[ EXTERIOR

m VERTICAL CROSS SECTION

w Outswing Sill

INTERIOR /X

SEENOTE 1

]

1

EXTERIOR

@\
\\

P ) woOD

D ) CONCRETE

/"6 "\ VERTICAL CROSS SECTION

\U Inswing Sill

.,
%, %
LTV 4

Wi

St 2¢c.2¢

R 515 Foe S

\\

30
WOOD/CONCRETE P ) WOOD
SUBSTRATE (TYP.) ) CoNCRETE
/4 "\ VERTICAL CROSS SECTION
w ADA Sill
INTERIOR 1\

NN
‘//.////:’////./{
“‘0

O

EXTERIOR

SEENOTE 1

Z
Z
Z
z
“Z
z
Z
Z
z
Z
Z
z
zZ
z
z

7“7\ VERTICAL CROSS SECTION

W Outswing Sill

ui
eq
-
23
Es a
.C* wn
0 M
-0 .
[ g5
(7)) [P
cg o
0 X 0 N
T w (3¢
£l Tuwn
3 G
>m
o ©
M
N
x
[}
o
(@)
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

x %)
[SYe) 2]
=0 S,
B 52
Qun s | ©
52 |2 25
('7,5 S| Oy
(&} w| =0
NS
OLp |= S
[ E |
(&)
8 (@]
o &
& <
(a8 o
n
Ll
Ly
[®)
e}
(&)
O
&x
Sl |
ol |z
o
= |@
(®]
Q| @
@
o
5
Q
@
D
Q
N
©o|—=
<
NS
wn
_lo
=

DATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX-4918

SHEET _6_oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 7

-

|=— 6" (TYP.)

!

|

—

HEAD & JAMBS
— (1Y) =

SILL (TYP.)

| ADASILLONLY | —

-

G

X

NOTE: FRAME CORNERS ATTACHED w/
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.)

- o

i =
.o
Oz
o
= X<
= <
- =

- o

o >

=

3" (TYP.)
4" (TYP.)

4" (TYP.) —|

6" (TYP.) j

|———

*/'L

HEAD & JAMBS
(TYP.)

— —

*
1 \Il

BACK-TO-BACK
JAMBS

W/ REINF.
(TYP.)

&
(TYP.)

X0 /0X

FRAME ANCHORING

&
(TYP.)

14'0.C.
MAX. (TYP)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

3" (TYP,)
4 (TYP)) &' (TYP.) -
4" (TYP) —— |
PAN I T T
X % T
HEAD & JAMBS BACK-TO-BACK
(TYP.) JAMBS |
. = w/ REINF. - =
(TYP.)
Q CONCRETE
- - o WOOD = —
% SILL (TYP.)
* 1
I \ L LTl I
\\//
* [
S

* NOTE: THESE ANCHORS ARE REQUIRED FOR DESIGN PRESSURE > 45 PSF ONLY

OXO

14'0.C.
MAX. (TYP)

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

S S
(&)
3 =
5 %
own X
3 |5 2
S g <
R | w
SL:.l nl =
O.m 0l <<
Lo E
5 x
8 o
o (7
(' <
o [a
D=
~J

5/26/20 [UPDATE TO 2018 IBC/IRC CODE

—

NO,| DATE

REVISIONS

DATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:

TX-4918

SHEET _7 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNDOJ aNigiing

‘ME 6102 Q)

2S8LL—4 # NOILVYLSIOZY 40 3ILVOI4ILY3D SNOISIAZY
SYIINION3 TYNOISSII0¥d 40 QYVO8 Svx3l SVI30 I4vMadvH Ad 31vd |ON| o ol o O_
T S41| 3000 OdI/081 810z OL 31vadn| oz/9z/s| L | (u|s|w| 2|7
sears 14 wowih gan 868 \SV@“ "AT8W3SSY J0 Luvd W M 1. 2|8
"ONI ‘SLNVLINSNOD ONIaTing AN . g1 8_
¥00a SSY1943gl4 o |E|&sle &2
CZLvoL# "3'd Svxal ONI 0dd1SY1d EINE &
‘3'd ‘IPIWYDS "4 uopuk :Ag padodaud sjuswnoog 119Na0Yd 2| g W w m %
L
m o
< <
ITEE
moe = @
/ 3
<<
[ — -
[ ) ) oL ]
= Ex B B S
B2 7 A | ST'1E | S
idmtﬂl - Q=
= Wi JWVd4 40 4Ol
C =[O _ _ WO .5CL°6
11 T
@\\ e lel
- laavrdodorol _ _, | : Q|3
STL68 | b S|8
S5
I -2 ) | e
T~ T | “ o3
3 ~ =5 ]
< oS 2 == =]
5|9 =55 “ls =
23 = w|Z O o _m
® m = $Q = Ly
I - = ﬁ ADn Q D
@\\ ele/ a M
MG@ .
Q
<
X
3
=
[ §]
Q
,m:
=
)
w
(&) @@ o @ W =
o [
< =
& > = S Q
: — g e 18 £
= e | - | V\\ M n Z -1 | - | “\ w /\ H s
ﬂ U T 5 & T8 | | 5 3
_ M v | M = an
O T = o)
@ ¥ o 2 8 (@ & <
g N/ a
< \/
T oy
& T
P ® :

8 'Bmp'gL6Y-X1\sBuimelq - D\dedwi-uoN paze|s 122110 £S0L ¥A - IGLNAL - S\LNINVINYId dul ‘oidise|d\s3uaiiD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 9

«:9:\;\’:}2‘.\?1’21!3 ’l. g

FDi Q1 4500 23 2
LS TR IN S -
ST iSi S. Bz
ol : wogn 2
ST fu it Zp @

2 t ® y b -
— SIDELITE Gt VS 53 £.0 2
) | ADAPTER 9%, 19} SFOEEB O
4.56 NI 258 8
= * 23!1**.::2] o g go &
) ; 5 ' i 1 i & Ov: §
< - 3 28,8
i I _i e Sg8 2
= & oo g
4.56" 1 " § @
T ")
20 INSWING THRESHOLD 21 INSWING THRESHOLD w/ SIDELITE ADAPTER 99 OUTSWING THRESHOLD “g) @< S
Endura (Z-Series) Endura (Z-Series) Endura (Z-Series) 9 -

[a]

CERTIFICATE OF REGISTRATION # F—11852

| 0 1" — SIDELITE NS
| ' 28
SIDELITE ADAFTER G 2
I ADAPTER 28 [ T
456" ! ' 456" . * SRER
T Tl 4 o o8 |43
= P
« J : h _i 3} &
i * i | 2 e
'_
| 456" | f . 4.56" 2 <
24 INSWING THRESHOLD 25 ) INSWING THRESHOLD w/ SIDELITE ADAPTER 26 )-QUISWING THRESHOLD 53 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ol
Columbia Columbia Columbia Endura (Z-Series) —|®
L
(&)
o
(]
O
=
' 212" 8| 2
l o 1©
= 455" S| |2
| I | il
| 457 . 2 YT R
o~ | " L
] i En = S S
8 — = - : ] s
anaE—— | i N | e 2
T . 457" . T N
27 INSWING THRESHOLD 28} INSWING THRESHOLD w/ SIDELITE ADAPTER 29 ). OUTSWING THRESHOLD ‘_&ADA THRESHOLD NS
DLP DLP DLP (QOSR) DLP S|
—|O
=z

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4918

SHEET _9 oF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4918.dwg, 10

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 2X FRAMING (G >=0.42) WOOD

C 1/4" MAX. SHIM SPACE -

D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL

G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

d #10 X 2" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL

1 POLY FIBER JAMB COMP

2 FINGER JOINT PINE JAMB WOOD

5 2X REINFORCEMENT (G >= 0.55) WOOD

6 DOOR SWEEP PVC

/ WEATHERSTRIP FOAM

g #9 X 3/4" PFH WOOD SCREW STEEL

11 4" X 4"HINGE STEEL
12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL
14 10-32 X 3/8" PFH MACHINE SCREW STEEL
15 #12 X 2-1/2" PFH WOOD SCREW STEEL

16 #8 X 2-1/2" PFH WOOD SCREW STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 OUTSWING THRESHOLD ALUM/COMP
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 INSWING THRESHOLD ALUM/COMP
25 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
26 OUTSWING THRESHOLD ALUM/COMP
27 INSWING THRESHOLD ALUM/WOOD
28 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
29 OUTSWING THRESHOLD ALUM/WOOD
30 ADA THRESHOLD ALUM
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

'\'\'.\.;\"\;L\
S wie
SOt Q1 &y
SAXT IS i,
('S"Q_-" iT: “,
¥ 3 s s
5 d iOim o
p’ é:‘ A2 \y, "N
et fw iy 2
456" but, VSIS S 4
!:;\2"-_- :’ (@] :: A o \°~
e ] LR L Rt
E - 9,5 5 i o0 &
v Npe: PSS
= Piadaee®
| .v, 3
i 2.44" 1 =]
POLY FIBER JAMB
Plastpro PF Jamb
* i 4.56" i
| | 5
f 244" { o
@ FINGER JOINT PINE JAMB
CONCRETE ANCHOR NOTES:

-_—

. Concrete anchor table:

. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

LFS
Y

ABEDMEN

5/26,/20 [UPDATE TO 2018 IBC/IRC CODE

NO| DATE

—

REVISIONS

TW BUILDEX NEV/

DATE: 4/29/19

SCALE:  N.T.S.

TAPCON® 1-3/4"
ELCO " " "
ULTRACON 1-3/4 1 4

DWG. BY: MT

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

CHK. BY: LFS

DRAWING NO.:
TX—-4918

sHEer 10 ofF 10

© 2019 R.W. BUILDING CONSULTANTS INC.



